Unit 2 Logarithms
Sr. L4
w| Questions A B C D
1 IB‘Z izt_a”dard form ©f 52X | eo 000 520,000 5,200,000v | 52,000,000
Scientific notation of 3 _4 _
v 4 3
2 | 000034 ic 3.4 x 10 3.4 x 10 3.4 x 10 3.4 x 10
3 The . bas.e of common 2 10v 5 =
logarithm is:
4 |log,2% = 1 2 5 3v
5 |log100 = . 2v 3 10 1
g | mRZ=DSGID  Hew) ou 0.6010 230107 2.6010
log 200 is:
7 | log(0) = positive negative zero undefinedv’
8 |10g10,000 = __ 2 3 4v 5
5
9 |log5+1log3 = log 0 log 2 log§ log15v
4 _ . . .
10 .35 = 8Lin logarithmic form | -, 4 _ g1 log,3=81 |logs81=4v | log,81 =3
Solution of MCQs

évvd‘,@ 625

0.00034 = 3.4 x 107*

2
3 | Common log base = 10
log, 23 =?
4 log, 22 = 3log, 2
= 3(1)
=3
log 100 =?
log 100 = log 102
5 = 2log10
=2(1)
=2
log 200 =?
log 200 =log2 x 100
6 =log2 + log 100
= 0.3010 + 2
= 2.3010
7 | log(0) is undefined
log 10,000 =?
log 10,000 = log10*
8 = 4]log 10
= 4(1)
=41
9 log5 +log3 =log 15
10 3*=81=log;81 =4
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